MITTAL COMMERCE CLASSES CA INTERMEDIATE - MOCK TEST

(ALL BATCHES)
DATE: 11.10.2018 MAXIMUM MARKS: 100 TIMING: 32 Hours

Q. No. 1 is compulsory.
Answer any four questions from the rest

SECTION - A : ENTERPRISE INFORMATION SYSTEMS

Question 1:
[ D HATHSTRGINT
(a) AT HFATSS
(EIESINER

o

(c) UbIpadarE-fars (ERP)
C)RIEIEEEE
(e) SATSERSTURTE (2 x 5 = 10Marks)

Question 2:
w C o\ [aN
(a) S—HHAITAZ TIGRHIBE B ATA T Ble:

o JgHIECYH TRIGTRTADRINFIS% B BT |

o B WIGTRMATBGRIRH10% &I BEC |

o I WD BRGTRPISHCTT! |

YTEH DI ha-IRIRRTGTdR g (amount to be paid)THTER-BIRfGE™ & ol gal—arc @l

ATAR | (6 Marks)
(b) ITTRARADRI & YA B AT DRECHSHIRNBABYANTERER [db & DRECHISAIT &
AATRHRE B ANIhSCHISTHAT & STRIHIATY | (4 Marks)
Question 3:
(a) §RIM P EAUEINGIIINTHIEDPER & WeW 89 & ARy
AT HI SRS | ST feRIamIfeygRaT o1 Araeadhdrs ? (6 Marks)
(b) BYOD & dTSIIRgABIdhIT | (4 Marks)
Question 4:

(3) Uh SUTGAFTSHITA T8I TUeRUTS IR AT T ( ERP )T IR RS e ST Ha [T s <l

TEh ST | YIS SIRARII I GEdIR. & ArSYeqadl S-d &Ml / BrafdgAaas [(6Marks)
(b) AT & fderor(Information System's Auditing) @& S edIGRIRTTHIUA®N |(4Marks)

Question 5:
(a) 9% FUT RR? SHDUGRIARY | (5Marks)
(b) CBSHARCR[hABETR? ARCY & Pls 4 STERUGINT | (5Marks)
Question 6:
(a) DBMS & aMadTgy | (6 Marks)
(b) MECYCHZIAD] AHATSY | (4 Marks)
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MITTAL COMMERCE CLASSES CA INTERMEDIATE - MOCK TEST

SECTION - B : STRATEGIC MANAGEMENT
Q. No. 7 is compulsory.
Answer any four questions from the rest

Question 7:
(a) URRTETHBATT Bl TROMD RIS DI |
(b) STTEAYITEAT g BT ARAT DHITOTY |
(c) FAemEHHERIFIfI(Directional Strategy)cbldww HINTT |
(d) Heram™(Core Competencies) YEHIHATICHINT |
(e) FE—SHR®fAT (Co-generic merger)us I THSSY | (2x5=10 Marks)

Question 8: M HUFIHIH T ARIBISIRGII—ANTAdR? TSR & UeT H, FeuH, HRURIT:
(a) TIR—ATRITSAI B RIMITHTT BT AaIIHABIS |
(b)T&  HITeT &  HodmA(core  competency)d TATOHAF A AYG®d Bl
IfAmeEyuizdz |
(c) Hﬁw@wﬂﬁﬁmﬂ?%ﬁ%%ﬁﬂmﬁ%ﬁ?ﬁ%" |

(d) TGS AETGRIIGIS T T8t |

(e) SSUHM P FId-TAUILHTRI(new entrants)dIEalcalRddRas | (2x5=10Marks)
Question 9:
(a)Xyzfafics Tdh

Tg—SUEH el AR /I FR<IREI e TdRRE 03 Rg b MNRIEN Il (accumulated
heavy losses)™ sHdIHe—ai(net worth)®ISSIEATE |
39 DG B U B UTHRIRIMIATdfdhdSUcie] 87 BRI RauH 8ol |

(5Marks)
(b)IHRIR SIS eI TA™TeAl P TARHIE [QI I NSRS NCEIRGIRY
f=—f=1g RIMIRAR® TG
ﬁwawmmﬁwm%(authonty)mmaﬁws P forg
fHATSHICTE [STafh g, REGINICERS]
ﬁ%rmwmﬁﬁmmwaﬁﬁﬂﬁmrﬁmw T D |
MR W RIS g ?T%Iﬂﬁ?ﬁrﬁ?éﬂﬂwﬂﬁrm
(5Marks)
Question 10:
(a) RoTfag e () qenfirerHerRadn] | (5Marks)
(b) ORI B 3 TRIHTREAH | (5 Marks)
Question 11:
(a) STHT DT IROMG! FHASSY | (5 Marks)
(b) ARTIAGE I I & AT | (5 Marks)
Question 12:
(a) TfiemRETR I FT2? NGRMRBIATHDMHAT T | (7Marks)
(b)ITIfRIReRARI AT G | (3Marks)
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